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1) Find the percentage changefrom3to6 || 2) 2x(-9) 3)  Convert the following improper
fraction 22/, + 31/, into amixed
number
Answer: Answer: Answer:
4)  Convert the following improper 5) 49+7 6) S + O/
fraction 2%/, + 3%, into amixed
number
Answer: Answer: Answer:
7) 55+ 6l 8)  Increase 296 by Y/, 9) (-4) x (-4)
Answer: Answer: Answer:
10 < 11) 8 x2lg 12) 4 4-3 Y,
8 Find Volume of
Cylinder
—
Answer: Answer: Answer:
13) Find the mean of the following set of data: 14) Find perimeter of 15) 32/6 X 31/2
6,4,4 square having each
s side (s) equals 10 cm
s
Answer: Answer: Answer:
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16) Find the percentage change from 8 to 17) Find thevaueof 's by completing 18)
16 the square of the following equation: 3 Find Volume of
24125+ 20 Cylinder
Answer: Answer: Answer:
19) > 20) 2 59 0f 195 21) 7+(-1)
3 Find Volume of
Cylinder
Answer: Answer: Answer:
22)  Round 9.9347 to 3 decimal places. 23) 50+ 10 24) 33% of 17
Answer: Answer: Answer:
25) 43, +2Y, 26) 45 0f 62 27) 10-4
Answer: Answer: Answer:
28) Convert the following improper 29) Find the percentage change from 1 to 30) \
fraction 11/, + 25/ into amixed 1
number
Name the type of angle.
Answer: Answer: Answer:
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31) Write4x 104 asanormal number.

32)  Write4x 104 asanormal number.

33) Findthevalue of Yj' by completing the
square of the following equation: 2 +
6 +9

Answer: Answer: Answer:
34) / 35) 8-5 36) Decrease 78 by %5
A B =60
Find the Angle at side A.
Answer: Answer: Answer:
37) Find area of 38) Findthevaueof Yj' by completing the || 39) 1,515
b rectangle having square of the following equation: 2 +
sidesa=10in 6 +9
a andb=9in
Answer: Answer: Answer:
40)  Findthe mean of the following set of data: 41) 43% of 14 42) Round 25.15 to 1 significant figures.
10, 6,9
Answer: Answer: Answer:
43) Find the range of the following set of data: 44) Find the mode of the following set of data: 45) (_4) + (_9)
10,4,2,7,3,5 8,877,728,8
Answer: Answer: Answer:
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46) Factorise 292 + 19q + 17 47) 3x 100 48) 5-1
Answer: Answer: Answer:
4Q)  Findthemode of the following set of data 50) 97% of 16 51) Convert the following mixed number
3,388 43/, into an improper fraction.
Answer: Answer: Answer:
52) Convert the following mixed number 53) Find area of triangle || 54) Find area of triangle
43/, into an improper fraction. a=9in,b=10in a=9in,b=10in
b [ b [
a a
Answer: Answer: Answer:
55) Convert the following fractioninto a 56) / 57) Factorisef2 + 11f + 18
mixed number: 8/
A B=18
Find the Angle at side A.
Answer: Answer: Answer:
58) Find the percentage change from 4 to 59) Find area of square 60) 'What isthe probability of rolling a
13 having each side (s) even prime number.when rolling a
s equals3in dice
s
Answer: Answer: Answer:
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61) 'What isthe probability of rolling a 62) 1Y,-31Y, 63) Y,o0f 20
even prime number.when rolling a
dice
Answer: Answer: Answer:
64) Find the mode of the following set of data: 65) Find the mode of the following set of data: 66) Convert the followi ng mixed number
2,2,6,6,55,5 2,2,6,6,5,55 1%/ into an improper fraction.
Answer: Answer: Answer:
67) 6.7-3.6 68) 3x18-19x 11 69) (9% 5% x (2x 993)
Answer: Answer: Answer:
70) 42-79 71) 9x 100 72) 310X Yg
Answer: Answer: Answer:

73) 22 x 4%, 74)  Find the value of 'd' by completing ) .
the square of the following equation: Find the next three numbersin
2+6d+9 the sequence

100-1-1,-2-2 , ,
Answer: Answer: Answer:
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76) Find the percentage change from 2 to
12

77) 6+5

78) Y, of 228

Answer: Answer: Answer:
79)  Round 3.4049 to the nearest 10000 80) Decrease 120 by 1/15 81) 43x86
Answer: Answer: Answer:

82)  Write8x 101 asanormal number.

Answer:

83) Decrease 12 by 50%

Answer:

84) Decrease 12 by 50%

Answer:

85) Round 8.967 to 1 significant figures.

86)  Slggof 106

87) Find the mode of the following set of data:

4,4,7,7,2,2,2
Answer: Answer: Answer:
88) Find the mode of the following set of data: 89) Find area of triangle 90) 42/7 X 25/7
8,8 a p h=2in,a=7in,
b=8in,c=10in
c
Answer: Answer: Answer:
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91) Convert the following mixed number 92) (-3) x (-1) 93) Round 8.261220 to the nearest 10000
3%, into an improper fraction.
Answer: Answer: Answer:
94) 10x5 95) 4+6 96) (-10) + (-3)
Answer: Answer: Answer:
97)  10x100 98) 3162+51 99) S+ Y,
Answer: Answer: Answer:

100) Round 14.565248 to the nearest
1000

Answer:

Total: /100
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Answers:

1) 100% 2) 3)6 46 57 6) 2%, 7) 2%,
8) 304 9) 10) 100.53096491487 11) %, 12) 1%y, 13) 4.67 14) 40cm
15) 117/, 16) 100% 17) (s+6)2- 16 18) 84.823001646924 19) 84.823001646924 20) 10 21)6
22) 9.935 23)5 24) 5.61 25) 1% 26)8 27)6 28) 3%/,
29) 1000% 30) Acute 31) 0.0004 32) 0.0004 33) (j +3)2 34) 120 35)3
36) 74 37) 90in 38) (j + 3)2 39) 1%,g 40) 8.33 41) 6.02 42) 30
43)8 44)8 45) -13 46) (2q + 17)(q + 1) 47) 300 48) 4 49)3
50) 15.52 51) 19/, 52) 19, 53) 45in 54) 45in 55) 8 56) 162
57) (f+2)(f+9) 58) 225% 59) 9in 60) g 61) g 62) 4 63) 2
64) 5 65) 5 66) 7/5 67)3.1 68) 69) 41006250 70) -3.7
71) 900 72) Yy 73) 208/, 74) (d + 3)2 75) -3,-3,-4, 76) 500% 7711
78) 4 79)34049  80) 112 81) 36.98 82) 80 83) 6 84) 6
85) 9 86) 10 87) 2 88) 8 89) 8in 90) 1131/, o1) 2%,
92) 93)8.2612  94) 50 95) 10 96) -13 97) 1000 98) 6.2
99) 17/, 100) 14.565
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